S BAINEL
BAINEL AUTOPARTS

BAINEL AUTOPARTS is engaged in trading and manufacturing
chassis parts since 2012 .

We are-professional in trading and manufacturing parts:
Suspension System

Brake System

Drive Shaft

Engine Parts

Body parts...




1.Control Arm

2.Tie Rod end
3.Ball Joint
4.Stabilizer Link

9.Axial Rod

6.Brake Caliper

7.Brake Disc
8.Wheel Hub Bearing

All other parts for the car module,Please consult customer service for details.
sales@bainel-autoparts.com




VOLVO

1377849 VOLVO Weight: 350 g
1433294 S60 1l [2010-]S80 Il (AS) [2006-]V60 |Fitting Position: Left and ,,_“_b
1 |BN03900120 |30648461 [2010-]V70 Il (BW) [2007-]XC60 right
306484610 Estate [2008-]XC70 Il Estate Fitting Position: Front Axle
6GIN-3B438-BA ([2007-]S60 2011-2013S80 2007- Length: 300 mm
Fitting Position: Right
VOLVO Fitting Position: Front Axle ._\6
2 |BN03900121|3209 408 340-360 (343, 345) [1975-1991]340-  |Length: 246 mm )
360 Saloon (344) [1979-1991] Weight: 0.328133 kg
Thread Measurement 1:
3064792 Height: 68.4 cm
VOLVO gt R
8 Fitting P - Rear Axl
10 S60 1 [2000-2010]S80 | (TS, XY) iing'csthon: ear /e ‘—-‘
3 |BN03900122 8672446 [1998-2006]V70 Mk Il (SW) [2000- Right -
9169080 20071XC90 | 12002 Fitting Position: Rear Axle
30647920 1 [2002] Let
272991 VOLVO E:tn:r?dpnpéllttlon: Front Axle ‘
4 |BNO3900123 6819253 960 Il (964) [1994-1996]960 Il Estate |, gth: 245 mm ,
9492837 (965) [1994-1996]S90 [1996-1998]VI0 o
E 1996-1998 Weight: 0.353079 kg
slate. | ] Thread Measurement 1:
Height: 65 cm
VOLVO Thread Measurement 1: ‘ ¢
5 |BN03900124 gi;g;%g 440 K (445) [1988-1996]460 L (464) |M10x1.5
[1988-1996]480 E [1986-1996] Thread Size 2:
M10x1.5Fitting Position:
VOLVO Fitting Position: Left
6 |BN03900125 [3209 407 340-360 (343, 345) [1975-1991]340-  |Fitting Position: Front Axle | L 4
360 Saloon (344) [1979-1991] Length: 246 mm
Weight: 0.326111 kg
0500467 Height: 57 cm
0504470 VOLVO Fitting Position: Left * *
7 |BN03900126 30871770 S40 1 (VS) [1995-2004]V40 Estate Fitting Position: Front
30873100 (VW) [1995-2004] Length: 200 mm
30884358 Width: 33 cm

All other parts for the car module,Please consult customer service for details.

sales@bainel-autoparts.com




VOLVO

Fitting Position: Right
Fitting Position: Left

360 Saloon (344) [1979-1991]

VOLVO g
1 |BN06000135 |31 280 409 XC60 Estate [2008] WﬁhS%SS rﬁm \
Weight: 0.84 kg
Fitting Position: Left and
VOLVO right —
2 |BN06000136 gg;;gigg S80 Il (AS) [2006-]V70 Il (BW) Fitting Position: inner »
[2007-]XC70 Il Estate [2007-] Fitting Position: Front Axle
Length: 321 mm
1433271 VOLVO QOuter thread 2: M18 x 1.50
1596574 S80 Il (AS) [2006-]V70 Il (BW) RHT M mm \
3 |BN06000137 [30776250 [2007-]XC70 Il Estate [2007-] Fitting Position: Left and
31280002 VOLVO (CHANGAN) right
31280658 S80L [2009-] Fitting Position: inner
31201817 VOLVO Fitting Position: Front Axle
274502 C30 [2006-2012]C70 Il Convertible Left —
4 (BN06000138|1251937 [2006-]S40 Il (MS) [2004-]V50 Estate |Fitting Position: Front Axle
1510270 (MW) [2004-]C30 2008-2011C70 2006- |Right
2745020 2011540 2004-2011V50 2005-2011 Length: 294 mm
VOLVO
— 740 BASE MODEL 1985740 BASE  |Thread Size: M14x2
5 |BN06000139 [{s0oarcs MODEL 1989-1990740 BASE MODEL |Thread Size: M16x1.5
1990-1992740 BASE MODEL 1992740 (Length: 295 mm °
GL 1989-1990740 GLE 1985-1988740
VOLVO Length: 141 mm
S60 1 [2000-2010]S80 I (TS, XY) Thread Measurement 1:
6 |BN06000140 (274353 [1998-2006]V70 | (LV) [1996-2000]V70 |M14 x 1.50 RHT
Mk Il (SW) [2000-2007]V70 XC [1997- [Thread Size 2: M16 x 1.50
2007]XC90 | [2002-] RHT
QOuter thread 2: M14x1.5
VOLVO mm
7 |BN06000141 (3 268829 340-360 (343, 345) [1975-1991]340-  |Fitting Position: Front Axle | "=

left and right
Length: 292 mm

All other parts for the car module,Please consult customer service for details.
sales@bainel-autoparts.com




I

2

|
)
UNIVERSAL CERTIFICATION CENTRE CO., LTD.
QUALITY MANAGEMENT

Certificate of Compliance
Mo 3TTE08 18 WATDRS
ate's tsCo., L
2 v »
0 Pronren

NSF
éun
c Certificate of Registration

SYSTEM CERTIFICATE This curtthen sht the Qudiey Manapernen Sysions of

N (04] SONITIRIM PRC
T b sl O b e o Cantcatontm (3 Weicheng Metal Products Co., Ltd.
wnc:m«: mw;l’. :onvclrs Co, LY. Mor f Lf\ N 358, Neeth of Norghai Hoad, Ninghai Coenty.
roe s - Nisghe City. Zhging Proviece. Chs 315600
--n‘-j:-u - Proguct: Coung Froaucss (Vaive Docky, Soroes) i o
e e Modaisi: Shosudan ol Pt By assesacd By NSEISR el Found 10 e i) ool tethe .
GE/T19001-2008/1S09001 : 2008 -
T e i ASTos A3S! ot (P Crva, P0G ISO/TS 16949:2009
SPRODUCTION AND SERVICES OF STEEL CASTING* v fovs Aol i
Vedfication

S G #2904 Thin Confua o wlhiiy wat 05262008 ‘

Sondore:
poul - " . o ASTM |ASIS/ALTE/AISDIAST |

reczed 4

CE Droc Svwir|- Manfi [ Prois ?‘"‘W k., Rool ¢
F0NMGRIDY [Pracose Ereee| Asis | SLron 43 { T dee Casting (Goxr ever, ki ‘capleg)

Fucludons: Pradacr Dedign

(= Aerecmman e of g cora OO g LATY Combom Narbr
= - N Catluns Nandwr 2
‘ A Cortlus Yo Dot 20-41AY-2084 x
Yogriuten Uate IRMAY- 2004 ol Bl
Tpnion Twr® 1%-MAY-20Y Vioe Frenalver, Tonbicd
e — Opessons, NSISK Ud
b (
e~ . -

NSF International Strategic Registrations
TES Moth Divions Soed e Atber, Viefagmn 25105 | J583) R8P 0000 | mew mobar o)

} R R
’ g —
(4
vce AT IVETE W

Tel : 86-574-82824608 B ‘\ ] L\« EL
Fax : 86-574-82824600
Mail : sales@bainel-autoparts.com

Website : www.bainel-autoparts.com AUT ,) I_j/\ l_j/ ‘—I__C
Office Add : L of = 1A )

Rm1801,No.88 Qianhe South Road,Ningbo,China
Plant Add :

No0.388,Xinghai North Road, Ninghai County, Ningbo, China




